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Gas Stoichiometry Worksheet

1.  Calcium hydride, CaH2, reacts with water to from hydrogen gas according to the equation shown below.  How many grams of CaH2 are needed to generate 53.5 L of H2 gas if the pressure of H2 is 814 torr at 21 ºC.

___CaH2  +  ___H2O   (   ___Ca(OH)2  +  ___H2
2.  The metabolic oxidation of glucose, C6H12O6, in our bodies produces CO2, which is expelled from our lungs as gas.  Calculate the volume of CO2 produced at 37 ºC and 0.970 atm when 24.5 g of glucose is consumed in this reaction.

___C6H12O6  +  ___O2   (   ___CO2  +  ___H2O

3.  Chlorine dioxide gas (ClO2) can be prepared according to the reaction shown below.  If you allow 10.0 g of NaClO2 to react with 2.00 L of chlorine gas at a pressure of 1.50 atm and at 21 ºC, how many grams of ClO2 can be prepared?
___ Cl2  +  NaClO2   (   ___ClO2  +  ___NaCl
